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3.3.6
32b (2 mwn) > 34a(xinm))
L. 23 mwn: placing the 211y in a tree or pit
a. Ifin a tree: only valid if placed lower than v” from the ground
b. Ifin a pit: at any depth it is valid
II.  Analysis of the 1st clause — distinction between above and below n'nav
a.27 *rpom before 1; agreed that tree must be in 9”11 and he intended to make his place below it
i. Challenge: one is not allowed to handle 1211 on naw (22y1Y in tree, even if below v™, is inaccessible)
ii. Answer: follows 27 — anything which is maw mwn (e.g. 912102 WNWN) doesn’t apply v”n’a (>available w”¥a1)
1.277.: added that that was how YR1nv interpreted the nwn and they made it the “approved” reading in 12
II.  x17's limitation on rule of “above 10 n'nav” — only if it outside of the “extension” of the city (70+ mnx)
a.But if: it is within city limits, anything in the city is considered “filled” and within “grasp” of the ground
i. Challenge: if so, outside of 1y Y» N1y, should be ok, since he is given 8”1 in that area =11 (no vertical limit)
ii. Answer (9”17 7772 ny’ ’3): case is a tree whose branch extends beyond the 8”1 and he intended to “reside” at root
1.And: non5/nynY is because it later straigtens out and rises at that point, "7+ from his nmaw oipn
2.Challenge: why not bring it via that branch (accessible 2211y n1p)
a)  Answer: many people use the horizontal stretch; per X, this is now 7"m
IV. Clarifying the background to the dispute 1327/727 (referred to above) re: mwnwn 11 Maw
a.»:2 payvy xnovin. '11 — if he put the 131y in a tree above v — invalid; below v* — valid but he may not take it nawa
i. If he put it below v” — he may take it on naw
ii. If: he putitin a basket — even above v —valid 111Y
iii. @2pom: if he may not take it, it is an invalid 2y1y
1.Analysis: onan cannot be comenting on 89’0 (basket) — they surely agree that 92101 778 are 1mn
2.Rather: must be commenting on 1% clause (w/o basket)
a) Defining case: if tree is less than v”1 — it is 109 mpn and even above v” should be 1w>
b)  And if: it is 0”1 wide — the basket should also be a problem, as it is in a »"n"
i. resolution: Rw is V"1; RV is less but basket completes the v
1.And: »21 holds like n™ (2'Ywn% pPppIn) and NN’ *1 (271 must be on place that is v"7)
a.Note: this position is not at odds with nmin» 92 *01 1 re: Spovv
i. Reason: in that case, the edges of the basket create the mxmn
ii. oY /1 nY3v) is different than tree — he can tip basket and eat from it
1.971. repeated this answer and was challenged by xraw "
a. Challenge: (in case he wants to set up 2y for 2 days — v followed by naw)
b. Solution: walks it out before v"v, brings it back after dark and takes it back out v"y
i. But: if the potential to have it available is sufficient, why bring it out-since he could!
c. Answer (N1 ™): it is a precaution against a case of V" following naw
2.Challenge: if he intended to set up "n’aw in 1”77 and put his 219 in a wall
a. If: below v™, valid; if above v — invalid
b. If: he meant to set up nn’aw on a perch or tall closet — above v* valid; below — invalid
i. Challenge: why isn’t it valid below v™, since he could lean it down
ii. Answer (7207 *): it is a case of a studded box (can’t tip over)
iii. Amnswer (827): even a non-studded one; if very large, tipping it would put it out of X1
iv. Question: if he has a rope and there’s a window — use them to retrieve 211y
v. Answer: case is where he doesn’t have those available

www.dafyomivicc.org 27 © Yitzchak Etshalom 2013




